SR q/ 2024783 A B A AL A R B

AT LK ﬁ%@ﬁ@Hm@ﬁ%>J

L HE O AE R Howohs N—
FS | XEs4 WBIET FRAE W H
ZEE HERE (mg/1)
(mg/1)
1 ESHEA FQ-01-2016 118.83472 32. 27805 FERLE SR 80 2024. 3. 14 6. 64 =
I ESHEO FQ-01-2016 119. 83472 33. 27805 i AL S, / 2024. 3. 14 0.02 =2
3 ESHEO FQ-02-2020 118° 50’ 05" | 32° 16’ 36” A SRS 80 2024. 3. 18 1.1 2
4 ESHED FQ-02-2020 118° 50°05” | 32° 16’36” k=) 2024. 3. 18 0. 02 2
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202447 58 — 2 B PR/ T0 4 2 HE T 0 47

=

e R geins | mwmr | PRRERE | gy R RE

B T 4 2023.6.2 | 0.32 |R£

2 HEARR Bird 2023.6.28| <0.3 |&

3 WELEE 0.04 2023.6.28| <0.3 |&

. 1 G 0.5 2023.6.2| ND |R

1 5L R 1 km?ﬁiﬁ@ 5 75 i 0. 15 2023.6.2| ND |&
6 IETH 0.5 2023.6.28| <0.04 |/

7 &5 1.5 2023.6.2 | 0.07 |R

8 k= 0. 06 2023.6.2 | 0.002 |R&

9 BEWKRE | 20 (EEHD 2023.6.2 | <10 |R

1 EF R E 4 2023.6.2 | 0.64 |=&

2 HEAR 0.1 2023.6.28| <0.3 |&

3 RE LK 0. 04 2023.6.28| <0.3 |&

W 4 LM 0.5 2023.6.2 | ND | &

2 | revmm | FEEE T me 0.15 2023.6.2] ND |
6 ETHE 0.5 2023.6.28| <0.04 |/

7 25 1.5 2023.6.2| 0.14 |R

8 ke 0. 06 2023.6.2 | 0.003 |&

9 RAWRE | 20 (EEH) 2023. 6. 2 <10 |&

1 | ERRER 4 2023.6.2 | 0.41 |R&

g W& AL 0.1 2023.6.28| <0.3 |R

3 HELEE 0. 04 2023.6.28| <0.3 |

L 4 G, 0.5 2023.6.2 | ND |&

3 75 F R 34 jﬁﬁiﬁ*ﬁ 5 T 4 1 0.15 2023.6.2| ND |&
) 6 ETE 0.5 2023.6.28| <0.04 |/

7 A5 1.5 2023.6.2 | 0.12 [#

8 miE 0.06 2023.6.2 | 0.002 |2

9 REWE | 20 (EEH) 2023.6.2 | <10 |&

1 ERRSE 4 2023.6.2 | 0.45 |&

2 WEAL 0.1 2023.6.28| <0.3 |R&

3 N WA o 0. 04 2023.6.28| <0.3 |&

4 7 LI 0.5 2023. 6. 2 ND |

4 75T A 44 jﬁﬁﬁﬁ 5 bl 0.15 2023. 6.2 ND |2
i 6 ETE 0.5 2023.6.28| <0.04 |/

7 a5 1.5 2023.6.2 | 0.16 |2

8 s 0. 06 2023.6.2 | 0.003 |A&

9 BEKE | 20 (EEHN) | 2023.6.2| <10 [R&
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AT LHR: ﬂwwﬁw W

§ " a._ >/ r COoD 7
MRS %(a/ SR | BERE | gy | DRORE BERE | maam | s
010, LN GHE/L) (mg/L) 1 (mg/L) (mg/L) Gl

WS-01- NS@‘ 1T 147.4 500 2 2.34 45 2

2024. 3. 4 WS-01-2016 150. 2 500 = 2. 40 45 = 13
WS—-01-2016 149. 9 500 & 2.39 45 =
WS-01-2016 155. 0 500 &= 3.62 45 B

2024. 3. 11 WS-01-2016 150. 8 500 = 3. 60 45 = 11.7
WS-01-2016 153.7 500 & 3. 65 45 =
WS-01-2016 176. 8 500 = 9.16 45 =

2024.3.18 WS-01-2016 170. 1 500 s 9.10 45 = 12
WS-01-2016 173.8 500 = 9.13 45 =
WS-01-2016 276. 9 500 P 10. 95 45 o

2024. 3. 25 WS-01-2016 270. 1 500 = 10. 85 45 & 11.9
WS-01-2016 280.0 500 = 10. 98 45 =
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AT Tk PR LR AT -

3. 64
WA

K\ / 4 a\ BRI

RWEN | WA BN, 10\ EE Y pH A% GE=7)
sy | g | BE [k | e | 25 MMM B hrdE | BT | 50 | BE | REIA| B3| BEE | 25E
W | bR | AFR | (mg/L) (mg/L) | iLkr o (mg/L) | ikdw | KEE | tniE| & WE | briE i
WS-01-2016 33 | 400 | & 5.09 70 & |0.57 5 & | 705 16-9] & |10.8 | 20 =
2024.3.4 | WS-01-2016 37 | 400 | 2 5.13 70 & | 0.59 5 & | 7.00 | 6-9] & | 0.87| 20 =
WS-01-2016 31 400 | =& 5.15 70 & | 0.58 5 £ | 7.10 | 6-9| 2 0.8 | 20 =
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T 20244E3 H I KHE O IS Ui
AR L. MRl THEBERAT -
s ¥ 105 31757
L\ col /G A pH Rz AEE (B=) | &E
% ° N —— N =
W 5 N, T\ |k . N - - _
B A awﬁ&%w | BB | wE | B | R |[FRYK s b 2T || B | 27| Bk | #FE | 26
(mg/L) | (mg/L) ¥ (mg/L| (mg/L) i B - hn | wREE | A | kAR | WREE | R | &HE
)
FWS-01-2016 9.19 40 1= 0.79 2 == 6.98 |[6-9 CEEH) | & 25 /=] 071 1 2 | BEY
FA T
2024.3. 4 FWS-01-2016 9.10 40 7 |08 2 2 | 700 |69(EEBH | 2| 23| /| R|074| 1 | B |236H
FWS-01-2016 9.15 40 g2 o] 2 2 |69 |6oceRgD | & 2 [/ [R|oe2]| 1 | ] W
FWS-01-2016 7.52 40 = 0.81 2 = 7.00 |6-9 (EEH) | & /| = 1 =
2024. 3. 11 FWS-01-2016 7.80 40 P 0. 85 2 i 7.10 | 6-9 (LEH) | & /| = 1 =
FWS-01-2016 7.68 40 &= 0.83 2 = 7.08 |6-9 (LEH) | & /| & 1 =
FWS-01-2016 7.91 40 Py 0.81 2 = 7.00 | 6-9 (GEH | = - 1 &
2024.3.18 FWS-01-2016 7.28 40 = 0.79 2 = 7.01 [ 6-9 (BEH) | & /| & 1 =
FWS-01-2016 7.30 40 = 0. 80 2 = 7.05 | 6-9 CEEH) | & /| & 1 b
FWS-01-2016 9.19 40 = 0.95 7 = 6.98 |6-9 (LEH) | & /| &2 1 =
2024. 3. 25 FWS-01-2016 9.10 40 & 0.90 2 = 7.00 |6-9 (EEH) | £ /| &2 1 =
FWS-01-2016 9.15 40 Py 0.93 2 & 6.99 |6-9 (EEH) | 2 / | & 1 =
gpa ) it mﬁ J_w.,
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AT LK ﬁfﬁ f@{f{i%@ﬁﬁﬁ/\?

KRS 145 ¥ He FbR 7 PR AR BYYNRE | £F
G B Hﬁ@ﬁj (mg/kg) E A (mg/kg) | &#
4 /}Uﬁ 5.5°8.5 (E&EA) | 2024.1.26 7.30 2

== ol 60 2024. 1. 26 4, 34 2

R g 4E 65 2024. 1. 26 0.08 S
AL | em [ il 18000 2024, 1.26 | 21,00 =
ffﬁﬂﬁ@ = d i . JE

L | gy gy | TSR | 5 A 800 2024.1.26 | 16560 | %
mu?m il 6 5 900 2024. 1. 26 34. 00 pis

7 X 38 2024. 1. 26 0. 088 S

8 S E 5.7 2024. 1. 26 1.00 =

9 | AME (CyCi) 4500 2024. 1. 26 50. 00 =

1 pHIE 5.578.5 (L&Y 2024. 1. 26 T2 &

2 fila 60 2024. 1. 26 3. 76 S

3 i 65 2024. 1. 26 0.07 JE

HEWN | #EE | 4 il 18000 2024. 1. 26 11. 00 £

3 | A | R [ 5 H 800 2024. 1. 26 17. 50 £
Bm/s2) W 6 H 900 2024. 1. 26 29. 00 =

7 K 38 2024. 1. 26 0.412 B

8 ST 5.7 2024. 1. 26 1.00 P

9 | AR (CipCa) 4500 2024. 1. 26 45.00 =

1 pH{EL 5.5°8.5 (LB 2024. 1. 26 7.99 P

2 fif 60 2024. 1. 26 4. 04 i

3 i 65 2024. 1. 26 0. 07 o

EERE | 4 il 18000 2024. 1. 26 20. 00 i

4 0/s3 R |5 B 800 2024. 1. 26 31.10 =
) 6 g 900 2024. 1. 26 35. 00 &

7 R 38 2024. 1. 26 0.099 &

8 AN N 5.7 2024. 1. 26 0. 60 P

9 | AEE (CipCy) 4500 2024. 1. 26 56. 00 &

1 pH{& 5.5°8.5 (LEH) 2024.1.26 7.10 =

2 Fi 60 2024. 1. 26 5. 18 i

3 i 65 2024.1.26 0.13 =

TEK | REE | 4 il 18000 2024. 1. 26 20. 00 =

5 | uhdbim | FREERE |5 i 800 2024.1.26 19. 50 o
/84 m 6 5 900 2024. 1. 26 40. 00 P

7 K 38 2024. 1. 26 0.133 i

8 PAN I 5.7 2024. 1. 26 1. 00 pis

9 | AEE (CiCy) 4500 2024. 1. 26 54. 00 b

1 pH{& 5.5°8.5 (LEH) 2024. 1. 26 7.38 P

2 fi 60 2024, 1. 26 4.16 £

3 ki 65 2024. 1. 26 0.07 =

FRE| £ | 4 £ 18000 2024. 1. 26 20. 00 =

6 il HIER | 5 L 800 2024.1. 26 16. 40 =
80m/S5 bl 6 5 900 2024. 1. 26 35. 00 Py

7 K 38 2024.1.26 0. 152 =

8 e 5.7 2024. 1. 26 0. 60 pod

9 | AHEE (CrpCa) 4500 2024. 1. 26 56. 00 &
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NGB ﬁg@mmj%@ﬁﬁﬂi
rgn /9 ﬂ ;
7 2 HEFSUbr #E FRAE y SRR | REES
: ~ b/
e | RiEA \Eﬁfi%\% /ﬁ@Jl% Caa/1) waEs |
FENASAN el
m—t" | pHiE 5.579 (L&) | 2024.1.25 | 7.20 7
HE 2 S AR 2 | M (A <1.50 2024. 1. 25 ND =
R R Rl I IE G <0. 10 2024.1.25 | 0.00048 | £
=R gl
/D1 4 o <0.1 2024.1.25 ND 7
5 |A#E (Co-Cyp) 0.6 2024.1.25 | 0.34 Py
1 pH{E 5.579 (L&) | 2024.1.25 7.80 pis
2 & (B <1.50 2024. 1. 25 ND =
FRE A h b | 3T KR =
2 /2 | ke 3 #HO(AEM) <0. 10 2024.1.25 | 0.00019 =
4 £ <0.1 2024.1. 25 ND =
5 |AmE (CpCy) 0.6 2024.1.25 | 0.23 =
1 pH{& 5.579 (LB | 2024.1.25 7. 40 =
) 2 | W (ATt <L.50 2024.1. 25 ND =
g | BEAEAN |30 TASE e ey <0.10 2024. 1. 25 ND 2
/D3 SR
4 £ <0.1 2024.1. 25 ND =
5 [HMIE (Cio=Ca) 0.6 2024. 1. 25 0.34 2
1 pH{& 5.579 (EE4) | 2024.1.25 7.30 &
) 2 | M () <1.50 2024.1. 25 ND &
4 fgifm;u’ﬁffjt EE}T 3 | & (mEh) <0. 10 2024.1.25 | 0.00044 | £
) 4 B <0.1 2024.1.25 | 0.00018 b
5 [AEHE (CyCiy) 0.6 2024.1.25 | 0.22 =
1 pH{H 5.579 (LEH) | 2024.1.25 7.00 7
2 NGRS =1.50 2024.1.25 | 0.00050 &
5 Ziﬁfu t&géﬁf 3 2 (RIVETE) <0.10 2024, 1.25 | 0.00346 P
i 4 B <0.1 2024. 1. 25 ND e
5 |AME (Cp—Cy) 0.6 2024.1.25 | 0.35 2
tl. GiEe @%ﬁ;
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20244 55— %mﬁ%ﬁ%ﬁﬁ.

AT LT ERGP TRARRAT o\ o/

BEE | B B R AR (dB) | AR E
fﬁﬂ“oao» Dw\
FREm | wewm | 2024127 55 | 52.4 55
2024. 3. 6
. 2024. 1. 27
1] & 7 IS
] FEa Ly 2094 3. 6 62.7 65 51 55
. 2024. 1. 27
_“_n_.uﬂ_ﬂ__\ﬂa
J 5 75 Wy 2024.3. 6 61.7 65 49.9 55
. 2024.1. 27
I i A
T Fe g 7 L 2024, 3. 6 63. 9 65 53.2 55

giitl: 703 #it: Y4 A2




